TEL 1-Y=-V=17) | TE1 User manual

1 1=

TEL1 U —X(E, EEEENHNESAOBEFHENNE SN /ZBAZERE
ZRNSORAT21—YTHO. i, 3B SICRERMICHS I DIEEET
[FRSOERE. [EE TR CRE{tSINTVET,

272 LOTHER

LHORE(E, MEFZ(IMEFEHRARTEERNCERSNTE ST
RFANFZEFESR. H(CABCHEOHABETOERAGHFIINTLEREA.
FHRCDOWTEE. ARz BEZE 0,

2.1 ERABM

RSO RFTa1—HE BWERESRTAICHKEI D EEZBNELTVET,
J>bO—-35— (PLCE) &—HICMUBRESRFTLZEB/KR L. COENIC
DHEATETET, s NEYIREAR. F£2E1 > M=ILFIEORET (.
{REEDIBK(CDIIN'D . BEFAERZEZENCLET.

224 A M=) LR

FS2RFa1—HE BEIDZIINTORERAEERL T, EIRDHDIEY
ENRETDHVENSGDFT.

S RFT 21— ORMRERGHEEDSEICAR CMEZRET DLHICHE
IRINRTOREMNRIE. EERICHRITIDINENDDET,

2.3 Rz ERY D
TEYRMEHREBBEQ. FSORAF1—HZBEITDIOREENDDET,
SRATLADEREANDHIC, BIERZIRR<HERLTIEE,

EIRGND £{E5 GNDEIDEMEZB T T BEVEM SV RFT1—H(3,
BEJR GND &{55 GND BIDBAIE[C &k > THIRSN SR N H D F T,

(R 58E3R)

2.4 SATLDEREZAND
SRFAF FERSORT1—HDISA-INELHEEINT
WRWHIEIS X AD—ETH BI5E. RYIOEREARCHIcENT
WRWEMEERITI DIHaN'H0DET .
UIeh' o T SN ABPRE (CERITREIBVNE S (LTI RE0,

2.5 fIEEZ#EEY D

hS2RF1—B0RMEE. FEE— R THIGMAE S TAEBEDH HEZE
WIBDILEHEHLET,
(BB F(FEEREDZEDEEEN D D ET)

2.6 HEEZTERT D
hS2RF71—HEBNICEEYS I AN TOIR—R hOMEEE FERN(C
FIvIULTLIEE,

2.7 dSERENMF

NS —OAECEMELRVEEER. EAZELEL. REEADLS
RELTZEN,

Page 1

novotechnik

Siedle Gruppe

1 General description

The TE1 series is a potentiometric transducer with
integrated electronics for normed output signals, optimized
for direct, accurate measurement of travel in display- or
feedback applications.

2 Safety instructions

Our products are regularly not approved for aeronautic or
aerospace applications and are not allowed to be used in
nuclear or military, in particular ABC-relevant applications.
For more information see our Terms and Conditions.

2.1 Intended use

The transducer is intended to be installed in a machine or

system. Together with a controller (e.g. PLC) it comprises

a position measuring system and may only be used for this purpose.
Unauthorized modifications, improper usage or nonobservance of the
instructions for installation will result in the loss of warranty and liability claims.

2.2 Installation & startup

The transducer must be installed by qualified personnel in consideration of all relevant
safety regulations.

All necessary safety measures to protect personnel and property in case of a transducer
defect or failure must be taken before startup.

2.3 Check connections

Improper connections and overvoltage can damage the transducer.
Check the connections always carefully before turning-on system.

Potential differences between supply voltage
GND and signal GND must be avoided.

With different potentials between supply voltage
GND and signal GND the transducer can be
destroyed! (see also Chapter 5)

2.4 Turning on the system

The system may execute uncontrolled movements during first

turning-on mainly when the transducer is part of a control system
whose parameters have not yet been set. Therefore make sure that
hereof no dangers for personnel and property can result.

2.5 Check measured values

After replacement of a transducer, it is advisable to verify the output
values for start- and end position in manual mode.

(Transducers are subject to modification or manufacturing tolerances)

2.6 Check functionality
The functionality of the transducer and all its associated
components should be regularly checked and recorded.

2.7 Failure malfunction
If the transducer doesn't operate properly, it should be taken out of

service and protected against unauthorized use.



TEL 1-Y=N=17)) | TE1 User manual

3 ES M5 —4 /Electrical data
- 44 EX :Supply voltage:
- JHEEN :Current draw:

44 >AM=VFIR

BEDS > T #EHIITDEE(E 140Nem DERA MNLOEFRIHENSDET .
2DOEEVVYY IO/, T2 HDN\DSIIDRE (FEA) O 2/3 DiERiz

BEHLET,

16..

.30 vDC
< 20mA typical

W EEE (TAB) ZBX TIRDEEA !
((TEABLUTEBICDNTIE, F6ERSBLTLIEEW)
Ty a0y RICIU-RZZSRNTLEEW !

VSTV IHE BIEAHOY R) OEHAE TAIE TORLENN 5N %

BATERDEREA.

5 iR

T ORBEF/NS D RRE, AEBHEOPRTITOINENHDE
¥, INZEITSICE Ty2a0y R (FrEE>Y) Z8H LT, 5VDC
F2(F 12mA DERAEAES D S0%NRESNDLDCLET.

=2t FOERETDRTETHIBENSD D, R/IHIFHERE
(r=40mm) ZEBFL., HOTYSZEITDRENSHDET,

BERERZTSLER. RORITERLTLEZ W,

AT A (HHEEE GND) EHlfl+vExy b (B85 GND) BRUEBRITRITN

FRDERA,

BHMmIIY (EMC) =R T3 (CE. ROERCHEECROILENHDET,
e NS RFa1 LI bO-5—(F S—ILRT-TIL=ERL THESR

IIBENHDET,

o =LK #1T4 SAZ MRt 85%DIER,

e > hO—S—fITIE. r—TILS—)LRZHENTINRENSGDFET,

DFED. REEMGKR(CIEG T DRENSHDFT .

=T IVER(E 30m 2B TR I D EFTEEEA !

51 9—=FIDFOHHT

(E>Hm3E>T5>203%4045 M8x1 D LA /

Top view of 3-pin flange connector M8x1 on the sensor )

novotechnik

Siedle Gruppe

4 Instruction for installation

Note the maximum tightening torque of 140Ncm when
fastening down the mounting clamps.

The recommended distance between the mounting clamps
is 2/ 3 of the dimension of sensor housing (dim. A).

Do not exceed the mechanical adjusting range (dim. B)!
(For dimension A and dimension B, see Chapter 6)

Do not lubricate the actuating rod!
The attack strength in mechanical end position of the return

spring configuration (retracted rod) may not be exceed 5N!

The adjustment or calibration of the sensor should be
in the middle of the range. For this, the rod
(or sensor) is shifted so that 50% of the maximum

output of 5VDC and 12mA is measured.

For the area of the cable please take care that enough
space is available, the minimum bending radius

(r=40mm) has been observed and sharp edges have
be avoided!

5 Wiring

Note the following when making electrical connection:

System (supply voltage GND) and control cabinet

(signal GND) must be at the same potential.

To ensure the electromagnetic compatibility (EMC), the

following instructions must be strictly followed:

e Transducer and controller must be connected by using shielded cable.

e Shielding: Copper filament braided, 85% coverage.

e On the controller side the cable shield must be grounded, i.e. be

connected with the protective earth conducter.

{ Terminal assignment

Zh0-7 (stroke
25—k

o
i

2 ~O-2 [stroke

Cable connection may not extended over 30m!

hS>2Fa21-9/
Transducei

UH—2 TV IFERSIRTa—Y/

3 A 1 Transducer with return spring
EE")T_ n‘ﬁ 2~ §| Az . ‘
oy b Ti}t/f J:ET — > EIDL T — T BEASI-TT-AOELEONT |
TE 1{” assrgn_men A ;::_1 ﬂf':;;ge ;S;Lg} Pin assignment connection cable Pin assignment for electrical interface
TE1 ___-__ _-4xx-202 (s-7) / cable) (728 /accessories) =5 TE
d—-R -k EEM 33-56/-58/-60 -k d—-R | O=K | O=F
101 202 EEM 33-57/-59/-61 411 412 421 422
PIN1 GN/ % |/ green BN/ ® [brown +24 VDC
A=k [ OVDC |10VDC| 4mA | 20 mA
PIN 4 WH/ B8 [ whit BK/ & ! black
e = x>k |e) |10vDC | ovoe | 20mA | ama
PIN 3 BN/ = [brown BU/ & /[ blue GND

Page 2



TEL 1-Y=N=17)) | TE1 User manual novotechnik

Siedle Gruppe
6 TSV | Models
6.1 F5>ZF1-Y | Transducer
B A
2/3A 33.2
2203 ﬂ:—u)bb.‘ly:j'_J/O L r}eﬁffnﬁniﬁended distance r 10 = .J..
all coupling
15+0.3 L~ .
§ SW10 @ I@ (N
= BOHT LY ghten T
0.5 -4 A / tightening torquef @ =
_ 8
19
TE1- b5YR521-% [ Transducer(TE1-__ __-101-___-___)
ST MRS | nominal length TE1 0025 | 0050 | 0075 | 0100 | 0150 Tol.
BRUAIEEEE
electrical measuring range mm 25 50 7 100 150 -
INDZUIDRE (FEA)
body length (dimension A) e 63 88 i 138 188 *
ESARDTY (TR 30 55 80 105 155 1,5
mechanical stroke (dimension B) i 2

6.2 UH—2RTUSIRE NS VAT 1—Y /Transducer with return spring

B 32 A
ETAIE 2/3A 33.2

at endposition 10 - EEir - j—- 10 . 1
recommended distance  p — o

12
s
i
= = = T— v = &
v o

DT NILT tightening torque //ﬂ@ @ '
max. 1&0Mcm

62.3 8

40+1.5
28.8+0.3
18
O——10

TEA - U5-Y2TU> &MY AT 1~ [Transducer with return spring ' TEA - _ -102 - - )

H47 NS | nominal length TE1 0025 | 0050 | 0075 | 0100 Tal.
BRUBITEEEF

efectrical measuring range
NISUIDRE (FEA)

body length (dimension A) ol Il ol - o B
MM hO—2 (14 B)

mm 25 50 75 100 -

mechanical stroke (dimension B) L o By | B | e
EEHSRNT T UL 33> T, TO—T0klis =5 CHET &% In applications with high vibration load, the probe tip
BESHLET (ZESRE) ’ A should be additionally secured (e.g. glued).
TO-TFy TEZMEREHBIBEEE, TyS 10y RARLNED VWhei exchanging of dismatiolig the prote 1. the
BloMVED LRWKS(C, Ty 10y REBNRSETEET ZLEN push rod must be held in a suitable manner to avoid
BOET, twisting or scratching of the rod.

Page 3



TEL 1-Y=N=17)) | TE1 User manual novotechnik

Siedle Gruppe

7 WM EmBFEIE & 7 Included in delivery

eTE1- _ _ _--101--__ - _ _ eTE1-__ __-101-__ _-___

2x B OS 2T Z-45 #ET, 2x mounting clamps Z-45 incl.

4x 21> - M4x10. 4x cylinder screws M4x10,

IxR—ILhvTFU>D 1x ball coupling;

eTE1-_ _ _ _--102--__ _-—-__ _ eTE1-__ __-102-__ _-__ _

2xBDHF OS2 T Z-45 #ED, 2x mounting clamps Z-45 incl.

4x 2> -2 M4x10. 4x cylinder screws M4x10,

IX EAN\=RAGIAR—IUFETO-TFvT 1x probe tip with pressed-in hardened metal ball

8 AT>a>onrFotbU 8 Optional accessories

3 EXARIARTFFE PUR =TI, e PUR-cable with 3-pin female connector,

M8x1. 3x0,25mmz2, = —)LR{FE: M8x1, 3x0,25 mmz2, shielded:

& 2m. EEM 33-56 (BB&mE= 005602) 2 m length, EEM 33-56 (P/N 005602)

K& 5m. EEM 33-58 (EP&mES 005604) 5 m length, EEM 33-58 (P/N 005604)

£ 10m. EEM 33-60 (#p&mES 005606) 10 m length, EEM 33-60 (P/N 005606)

3 EARTIIVARTF44E PUR r—T)b. e PUR-cable with 3-pin female angled connector,

M8x1. 3x0,25mmz2, = —)LR{FE: M8x1, 3x0,25 mmz2, shielded:

& 2m. EEM 33-57 (BB&mES 005603) 2 m length, EEM 33-57 (P/N 005603)

& 5m. EEM 33-59 (#&m@ES 005605) 5 m length, EEM 33-59 (P/N 005605)

& 10m. EEM 33-61 (3B&mES 005607) 10 m length, EEM 33-61 (P/N 005607)

Ax BDFF OS> T 723-31 B#ED. e 4x mounting clamps Z3-31 incl.

4x YA -2 MAx10 (EBRES 059010) 4x cylinder screws M4x10 (P/N 059010)

9 s#%a—k  /Ordering code

L= T, S0 e Ty Sl
ESREREER BERIEGR
Electrical measuring range Electrical connection
BEAREO 1B EY ) BSNA>H—T1—R
Mechanical configuration Electrical interface

mZESHEE
WE— - 7> RT3
T 355-0311
BEEEPEVN B[S 2452-5
E-mail : NovotechnikJP@b-plus-kk.jp

WE— - 7> R - S XI(& novotechnik fEDIEARBANRIEETY, T621503Aj 2021.05.18

Page 4



